1a. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties’ candidates would you, yourself, be most likely to support?

1 Y S Y. S EDUCATION DecidecVoters Leaners
Total Male Female 18-34 35-54 55+ <HS HS Post Sec Univ Grad The The Liberal | The New The Green Orsome | Would not
Conservati Party |Democratic| Québécois Party other party | vote/None | Know/Not
ve Party Party ( /Would
(NDP) spoil ballot
A B C D E F G H I
Base: All Answering (unwtd) 499 250 249 129 196 174 28 90 212 169 141 153 70 18 20 7 3 37 50
Base: All Answering (wtd) 506 263 243 132 174 200 60 171 194 81 142 121 60 19 15 7 4 51 87
132 72 60 31 30 70 14 39 55 24 132 - - - - - - - -
The Conservative Party 26% 27% 25% 24% 17% 35% 23% 23% 28% 29% 93% - - - - - - - -
T o - : . : = = = = = :
108 64 45 29 38 42 9 29 47 23 - 108 - - - - - - -
The Liberal Party 21% 24% 18% 22% 22% 21% 15% 17% 24% 29% - 90% - - - - - - -
T = . < T : - = - = - :
55 32 23 24 19 11 2 25 20 8 - - 55 - - - - - -
The New Democratic Party (NDP) 11% 12% 9% 18% 11% 6% 3% 15% 10% 10% - - 91% - - - - - -
o = . o = = = = = :
17 13 4 4 9 4 3 7 5 1 - - - 17 - - - - -
The Bloc Quebecois (BQ) 3% 5% 2% 3% 5% 2% 6% 4% 3% 2% - - - 88% - - - - -
15 3 12 2 3 9 - 7 5 3 - - - - 15 - - - -
Green Party 3% 1% 5% 2% 2% 5% - 4% 3% 3% - - - - 99% - - - -
3 5 1 3 - 2 - 3 3 - - - - - - 6 - - -
People's Party 1% 2% * 3% - 1% - 2% 2% - - - - - - 88% - - -
2 2 - - 2 - 2 - * - - - - - - - 2 - -
Or some other party * 1% - - 1% - 3% - * - - - - - - - 52% - -
50 33 17 15 24 11 12 18 17 3 - - - - - - - 50 -
'Would not vote/None/Would spoil ballot 10% 12% 7% 11% 14% 5% 19% 11% 9% 4% - - - - - - - 99% -
121 39 82 23 48 50 19 43 42 18 10 12 6 2 * 1 2 * 87
Don't Know/Not sure 24% 15% 34% 18% 28% 25% 31% 25% 21% 23% 7% 10% 9% 12% 1% 12% 48% 1% 100%
A E - . g = - = - & e
506 263 243 132 174 200 60 171 194 81 142 121 60 19 15 7 4 51 87
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/|J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
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1b. Well, which party would you say you would lean towards?

_
A B

EDUCATION Decided-Voters Leaners

<HS HS PostSec | UnivGrad | The | The Liberal| The New The Green Orsome | Would not
Conservati Party |Democratic| Québécois Party other party | vote/None | Know/Not
ve Party Party ( /Would
(NDP) spoil ballot
F G H |

18-34 3554
c D E

J K L ™M N o P Q R
Base: All Answering (unwtd) 90 32 58 19 42 29 s 20 38 27 1 16 7 2 1 1 1 1 50
Base: All Answering (wtd) 121 39 82 23 48 50 19 43 42 18 10 12 6 2 * 1 2 * 87
10 4 6 2 4 4 - 4 6 1 10 - - - - - - - -
The Conservative Party 8% 1% 7% 10% 7% 8% - 9% 13% 4% 100% - - - - - - - -
= = > = = = = = - = - = - = - =
12 6 7 3 5 4 - 4 6 2 - 12 - - - - - - -
The Liberal Party 10% 15% 8% 13% 10% 9% - 10% 14% 12% - 100% - - - - - - -
- - - - - - - - - - - - - - - -
6 3 2 2 3 1 - 2 3 1 - - 6 - - - - - -
The New Democratic Party (NDP) 5% 8% 3% 10% 5% 1% - 4% 8% 3% - - 100% - - - - B B
= = e = = = = = = = - = - = - =
2 2 - - - 2 2 - - * - - - 2 - - - - -
The Bloc Quebecois (BQ) 2% 6% - B - 5% 10% - - 3% - B - 100% . N . N .
. - - - - - - - - - - - - - - -
* 0 _ B * B _ B _ * _ B _ - 0 N _ N .
Green Party * 1% - - * - - - - 1% - - - - 100% - - - -
= 3 > 3 = = = = = = - = - = - =
1 1 - - 1 - - - 1 - - - - - - 1 - - -
People’s Party 1% 2% - - 2% - - - 2% - - - - - - 100% - - -
- - - - - - - - - - - = - = - =
2 2 - 2 - - - 2 - - - - - - - - 2 - -
Or some other party 2% 5% - 8% - - - 4% - - - - - - - - 100% - -
= = > = = = = = = = - = - = - =
* R * R * R _ - _ B _ B _ - _ B B * _
Would not vote/None/Would spoil ballot * - 1% - 1% - - 1% - - - - - - - - - 100% -
- - - - - - - - - - - = - = - -
87 21 67 14 35 38 17 30 26 14 - - - - - - - - 87
Don't Know/Not sure 72% 53% 81% 59% 74% 76% 90% 71% 63% 77% - - - - - - - - 100%
= = > = = = = = = = - = - = - =
121 39 82 23 48 50 19 43 42 18 10 12 6 2 * 1 2 * 87
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/|J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
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1aa. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties’ candidates would you, yourself, be most likely to support?

Total Male Female 18-34 35-54 55+ <HS HS Post Sec Univ Grad The The Liberal | The New The Green Orsome | Would not
Conservati Party Democratic | Québécois Party other party VO[E/NOHE KHOW/NO!
ve Party Party ( /Would
(NDP) spoil ballot
A B C D E F G H I
Base: All Answering (unwtd) 501 228 273 133 192 176 29 93 222 157 122 138 86 17 53 - 5 30 50
Base: All Answering (wtd) 494 223 271 141 166 187 60 163 198 73 124 105 67 16 39 - 5 40 97
113 50 62 24 37 51 2 47 49 15 113 - - - - - - - -
The Conservative Party 23% 23% 23% 17% 22% 27% 3% 29% 25% 20% 91% - - - - - - - -
90 48 42 20 37 33 7 22 41 20 - 90 - - - - - - -
The Liberal Party. 18% 21% 16% 14% 22% 18% 11% 14% 21% 27% - 86% - - - - - - -
57 21 36 21 19 16 2 18 25 12 - - 57 - - - - - -
The New Democratic Party (NDP) 11% 10% 13% 15% 12% 9% 4% 11% 13% 16% - - 85% - - - - - -
15 8 7 3 9 3 3 7 3 2 - - - 15 - - - - -
The Bloc Québécois (BQ) 3% 4% 3% 2% 6% 2% 5% 4% 2% 3% - - - 95% - - - - -
31 19 13 19 6 7 1 10 15 6 - - - - 31 - - - -
The Green Party 6% 8% 5% 13% 3% 3% 2% 6% 7% 8% - - - - 80% - - - -
5 4 1 2 * 3 - 2 3 * - - - - - - 5 - -
Or some other party. 1% 2% * 1% * 1% - 1% 1% 1% - - - - - - 100% - -
36 13 23 11 16 8 13 12 9 2 - - - - - - - 36 -
'Would not vote/None/Would spoil ballot 7% 6% 8% 8% 10% 4% 22% 7% 4% 3% - - - - - - - 88% -
148 60 88 40 41 66 31 a7 53 17 11 15 10 1 8 - - 5 97
Don't Know/Not sure 30% 27% 32% 29% 25% 35% 53% 29% 27% 23% 9% 14% 15% 5% 20% - - 12% 100%
494 223 271 141 166 187 60 163 198 73 124 105 67 16 39 - 5 40 97
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100%
Statistics:

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/|J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
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1bb. Well, which party would you say you would lean towards?

1 Y S Y. S EDUCATION DecidecVoters Leaners
Total Male Female 18-34 3554 55+ <HS [ PostSec | UnivGrad | The | TheLiberal| The New’ The Green Orsome | Would not
Conservati Party |Democratic| Québécois Party other party | vote/None | Know/Not
ve Party Party ( /Would
(NDP) spoil ballot
A B C D E F G H |
Base: All Answering (unwtd) 104 37 67 24 31 49 10 22 47 25 1 17 12 1 9 - - 4 50
Base: All Answering (wtd) 148 60 88 40 41 66 31 47 53 17 1 15 10 1 8 - - B 97
11 4 7 1 2 8 - B 6 1 11 - - - - - - - -
The Conservative Party 8% 7% 8% 4% 5% 12% - 10% 11% 6% 100% - - - - - - - -
= = > = = = - = - = - =
15 9 6 4 8 4 6 2 4 2 - 15 - - - - - - -
The Liberal Party 10% 15% 7% 9% 19% 6% 19% 5% 8% 15% - 100% - - - - - - -
- - - - - - - - - - - -
10 2 9 1 2 7 3 2 5 * - - 10 - - - - - -
The New Democratic Party (NDP) 7% 3% 10% 3% 4% 1% 8% 5% 10% 2% - - 100% - - - - - -
= = e = = = = = - = - =
1 1 - - 1 - - - 1 - - - - 1 - - - - -
The Bloc Québécois (BQ) 1% 1% - - 2% - - - 1% - - - - 100% - - - - -
. - - - - - - - - - - -
8 - 8 2 2 4 1 4 1 1 - - - - 8 - - - -
The Green Party 5% - 9% 2% 5% 6% 4% 8% 2% 7% - - - - 100% - - - -
3 = > o = = = = - = - =
5 1 4 1 1 3 - 3 2 - - - - - - B - 5 B
Would not vote/None/Would spoil ballot 3% 2% 4% 3% 2% 5% - 6% 3% - - - - - - - - 100% -
- - - - - - - - - = - -
97 43 54 31 26 40 21 30 34 11 - - - - - - - - 97
Don't Know/Not sure 66% 72% 62% 77% 64% 60% 68% 65% 64% 69% - - - - - - - - 100%
- = > o = = = = - = - =
148 60 88 40 a1 66 31 47 53 17 1 15 10 1 8 - - 5 97
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - - 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/1,}/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
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1a/1b/1aa/1bb. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well, which party would you say you would lean towards?

| Gender | A | EDUCATION Decided-Voters Leaners
TDta\ Ma\e Female 15 34 35-54 PostSec | UnivGrad | The [Theliberal| TheNew | TheBloc | TheGreen | People's | Orsome |Would not
Conservati Party |Democratic| Québécois Party Party | other party | vote/None Know/Not
ve Party Party (8Q) /Would
(NDP) spoil ballot
Base: All Respondents (unwtd) 1000 478 522 262 388 350 57 183 434 326
Base: All Respondents (wtd) 1000 486 514 273 340 387 120 334 392 154 266 226 127 35 54 7 9 91 185
266 131 135 60 73 134 16 95 115 40 266 - - - - - - - -
The Conservative Party 27% 27% 26% 22% 21% 35% 13% 28% 29% 26% 100% - - - - - - - -
) B F F KINQR - B - - * B
226 126 100 55 87 83 2 58 98 a8 - 226 - - - - - - -
The Liberal Party 23% 26% 20% 20% 26% 22% 18% 17% 25% 31% - 100% - - - - - - -
- G JINQR - - - - * -
127 58 70 49 43 36 7 47 53 21 - - 127 - - - - - -
The New Democratic Party (NDP) 13% 12% 14% 18% 13% 9% 6% 14% 14% 14% - - 100% - - - - - -
E B JKNQR b B - - * +
35 24 1 7 19 9 8 14 9 4 - - - 35 - - - - -
The Bloc Quebecois (8Q) 4% 5% 2% 3% 6% 2% 7% 4% 2% 3% - - - 100% - - - - -
B - - - - - - -
54 22 32 23 1 20 2 20 21 10 - - - - 54 - - - -
The Green Party 5% 5% 6% 8% 3% 5% 2% 6% 5% 6% - - - - 100% - - - -
) B - JKLQR* - - * B
7 6 1 3 1 2 - 3 4 - - - - - 7 - - -
People's Party 1% 1% * 1% * 1% - 1% 1% - - - - - - 100% - - -
B - B - - * B
9 8 1 4 3 3 2 4 3 * - - - - - - 9 - -
Or some other party 1% 2% * 1% 1% 1% 1% 1% 1% * - - - - - - 100% - -
B - B - o * B
91 47 44 27 42 2 25 33 28 5 - - - - - - - 91 -
Would not vote/None/Would spoil ballot 9% 10% 9% 10% 12% 6% 21% 10% 7% 3% - - - - - - - 100% -
E Hi* | | - B - - JKLNR* B
185 64 121 45 62 78 38 61 60 26 - - - - - - - - 185
Don't Know/Not sure 18% 13% 23% 16% 18% 20% 32% 18% 15% 17% - - - - - - - - 100%
A Hi* P B P o * JKINQ®
1000 486 514 273 340 387 120 334 392 154 266 226 127 35 54 7 9 91 185
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/1,}/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
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1a/1b/1aa/1bb. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well, which party would you say you would lean towards?

Gender AGE EDUCATION Decided-Voters Leaners
Tota\ Ma\e Female 18 34 35-54 PostSec | UnivGrad | The [Theliberal| TheNew | TheBloc | TheGreen | People's | Orsome |Would not
Conservati [  Party |Democratic| Québécois | Party Party | other party | vote/None Know/Not
ve Party Party (8Q) /Would
(NDP) spoil ballot
Base: Decided Voters Leaners (unwtd) 833 410 423 218 318 297 36 145 366 286
Base: Decided Voters Leaners (wtd) 724 375 349 201 236 287 57 240 304 123 266 226 127 35 54 7 9 - -
266 131 135 60 73 134 16 95 115 40 266 - - - - - - - -
The Conservative Party 37% 35% 39% 30% 31% 47% 28% 39% 38% 33% 100% - - - - - - - -
) B KN - B - -
226 126 100 55 87 83 22 58 98 48 - 226 - - - - - - -
The Liberal Party 31% 33% 29% 28% 37% 29% 39% 24% 32% 39% - 100% - - - - - - -
- G N - - - -
127 58 70 49 43 36 7 47 53 21 - - 127 - - - - - -
The New Democratic Party (NDP) 18% 15% 20% 24% 18% 12% 12% 19% 17% 17% - - 100% - - - - - -
£ B KN - B - -
35 24 1 7 19 9 8 14 9 4 - - - 35 - - - - -
The Bloc Quebecois (BQ) 5% 6% 3% 4% 8% 3% 14% 6% 3% 3% - - - 100% - - - - -
E Hi* - - - -
54 22 32 23 11 20 2 20 21 10 - - - - 54 - - - -
The Green Party 7% 6% 9% 1% 5% 7% 4% 9% 7% 8% - - - - 100% - - - -
) B - KL - -
7 6 1 3 1 2 - 3 4 - - - - - - 7 - - -
People's Party 1% 2% * 2% * 1% - 1% 1% - - - - - - 100% - - -
B - B - -
9 8 1 4 3 3 2 4 3 * - - - - - - 9 - -
Or some other party 1% 2% * 2% 1% 1% 3% 2% 1% * - - - - - - 100% - -
B B - B - o
724 375 349 201 236 287 57 240 304 123 266 226 127 35 54 7 9 - -
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - -
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/|J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

Table of contents



1a/1b. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well, which party would you say you would lean towards? - Unprompted

| Gender | A | EDUCATION Decided-Voters Leaners
Tota\ Ma\e Female 15 34 35-54 PostSec | UnivGrad | The [Theliberal| TheNew | TheBloc | TheGreen | People's | Orsome |Would not
Conservati [  Party |Democratic| Québécois | Party Party | other party | vote/None Know/Not
ve Party Party (8Q) /Would
(NDP) spoil ballot
Base: All Answering (unwtd) 499 250 249 129 196 174 28 20 212 169
Base: All Answering (wtd) 506 263 243 132 174 200 60 171 194 81 142 121 60 19 15 7 4 51 87
142 77 66 34 34 75 14 43 60 24 142 - - - - - - - -
The Conservative Party 28% 29% 27% 26% 19% 37% 23% 25% 31% 30% 100% - - - - - - - -
. ) - * KR B - - - - - B
121 69 52 32 43 46 9 33 53 25 - 121 - - - - - - -
The Liberal Party 24% 26% 21% 24% 25% 23% 15% 20% 27% 32% - 100% - - - - - - -
. - - G IR - - - - - - -
60 35 25 27 22 12 2 27 23 9 - - 60 - - - - - -
The New Democratic Party (NDP) 12% 13% 10% 20% 13% 6% 3% 16% 12% 11% - - 100% - - - - - -
£ - * JKR* - - - - - B
19 15 4 4 9 6 5 7 5 2 - - - 19 - - - - -
The Bloc Quebecois (8Q) 4% 6% 2% 3% 5% 3% 9% 4% 3% 2% - - - 100% - - - - -
. - - - - - - - - -
15 4 12 2 4 9 - 7 5 3 - - - - 15 - - - -
The Green Party 3% 1% 5% 2% 2% 5% - 4% 3% 4% - - - - 100% - - - -
. I * B - - - - - B
7 6 1 3 1 2 - 3 4 - - - - - - 7 - - -
People's Party 1% 2% * 3% * 1% - 2% 2% - - - - - - 100% - - -
. - * B - - - - - B
4 4 - 2 2 - 2 2 * - - - - - - - 4 - -
Or some other party 1% 1% - 1% 1% - 3% 1% * - - - - - - - 100% - -
. o * B - o - o - B
51 33 18 15 25 1 12 19 17 3 - - - - - - - 51 -
Would not vote/None/Would spoil ballot 10% 12% 7% 1% 14% 5% 19% 1% 9% 4% - - - - - - - 100% -
. E - * B - - - - - B
87 21 67 14 35 38 17 30 26 14 - - - - - - - - 87
Don't Know/Not sure 17% 8% 27% 10% 20% 19% 28% 18% 14% 17% - - - - - - - - 100%
A . o * B P o P o P KL
506 263 243 132 174 200 60 171 194 81 142 121 60 19 15 7 4 51 87
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/1,}/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

Table of contents



1a/1b. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well, which party would you say you would lean towards? - Unprompted

Gender AGE EDUCATION Decided-Voters Leaners
Tota\ Ma\e Female 15 34 35-54 PostSec | UnivGrad | The [Theliberal| TheNew | TheBloc | TheGreen | People's | Orsome |Would not
Conservati [  Party |Democratic| Québécois | Party Party | other party | vote/None Know/Not
ve Party Party (8Q) /Would
(NDP) spoil ballot
Base: Decided Voters Leaners (unwtd) 412 216 196 109 151 152 20 71 175 146
Base: Decided Voters Leaners (wtd) 368 210 159 104 114 151 32 122 151 64 142 121 60 19 15 7 4 - -
142 77 66 34 34 75 14 43 60 24 142 - - - - - - - -
The Conservative Party 39% 37% 41% 33% 30% 50% 44% 35% 40% 38% 100% - - - - - - - -
. ) - * KL B - - - -
121 69 52 32 43 46 9 33 53 25 - 121 - - - - - - -
The Liberal Party 33% 33% 33% 31% 37% 31% 29% 27% 35% 40% - 100% - - - - - - -
. - - m - - - - -
60 35 25 27 22 12 2 27 23 9 - - 60 - - - - - -
The New Democratic Party (NDP) 16% 17% 16% 26% 19% 8% 6% 22% 15% 14% - - 100% - - - - - -
£ 3 - * g - - - -
19 15 4 4 9 6 5 7 5 2 - - - 19 - - - - R
The Bloc Quebecois (BQ) 5% 7% 2% 4% 8% 4% 16% 6% 3% 3% - - - 100% - - - - -
. - - - - - - -
15 4 12 2 4 9 - 7 5 3 - - - - 15 - - - -
The Green Party 4% 2% 7% 2% 3% 6% - 6% 4% 5% - - - - 100% - - - -
A . I * B - - - -
7 6 1 3 1 2 - 3 4 - - - - - - 7 - - -
People's Party 2% 3% * 3% 1% 2% - 2% 2% - - - - - - 100% - - -
. - * B - - - -
4 4 - 2 2 - 2 2 * - - - - - - - 4 - -
Or some other party 1% 2% - 2% 2% - 5% 2% * - - - - - - - 100% - -
. I * B - o - o
368 210 159 104 114 151 32 122 151 64 142 121 60 19 15 7 4 - -
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - -
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/|J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
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1aa/1bb. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well, which party would you say you would lean towards? - Prompted

| Gender | A | EDUCATION Decided-Voters Leaners
Tota\ Ma\e Female 15 34 3554 PostSec | UnivGrad | The |ThelLiberal| TheNew | TheBloc | The Green [ People’s | Orsome | Would not
Conservati Party Democratic| Québécois Party Party other party | vote/None KHOW/NO!
ve Party Party (8Q) /Would
(NDP) spoil ballot
Base: All Answering (unwtd) 501 228 273 133 192 176 29 93 222 157
Base: All Answering (wtd) 494 223 271 141 166 187 60 163 198 73 124 105 67 16 39 - 5 40 97
124 55 69 2 39 59 2 51 55 16 124 - - - - - - - -
The Conservative Party 25% 25% 26% 18% 23% 32% 3% 31% 28% 22% 100% - - - - - - - -
* c o * KINR® * ¥ = ¥ - = ¥
105 56 49 23 45 37 13 25 45 22 - 105 - - - - - - -
The Liberal Party 21% 25% 18% 17% 2% 20% 21% 15% 23% 31% - 100% - - - - - - -
* - - s O JINR® 0 - 0 - - 0
67 23 44 2 21 24 5 20 30 12 - - 67 - - - - - -
The New Democratic Party (NDP) 14% 10% 16% 16% 13% 13% 8% 12% 15% 16% - - 100% - - - - - -
¥ = * * * JKNR* = ¥ - = ¥
16 9 7 3 10 3 3 7 4 2 - - - 16 - - - B -
The Bloc Quebecois (8Q) 3% 4% 3% 2% 6% 2% 5% 4% 2% 3% - - - 100% - - - - -
B - - O - 0 - 0 - - 0
39 19 20 21 8 11 2 14 16 7 - - - - 39 - - - -
The Green Party 8% 8% 7% 15% 5% 6% 4% 8% 8% 9% - - - - 100% - - - -
DE* = * * * ¥ = IKLR* - = ¥
5 4 1 2 * 3 - 2 3 * - - - - - - 5 - -
Or some other party 1% 2% * 1% * 1% - 1% 1% 1% - - - - - - 100% - -
B - * ¥ - ¥ = ¥ - = ¥
40 14 27 12 17 11 13 15 11 2 - - - - - - - 40 -
Would not vote/None/Would spoil ballot 8% 6% 10% 9% 10% 6% 2% 9% 5% 3% - B - B - - - 100% B
¥ - * ¥ * ¥ = ¥ - = ¥
97 43 54 31 2 40 21 30 34 11 - - - - - - - - 97
Don't Know/Not sure 20% 19% 20% 2% 16% 21% 36% 19% 17% 16% - - - - - - - - 100%
* - * ¥ - ¥ = ¥ - = TKLN®
494 223 271 141 166 187 60 163 198 73 124 105 67 16 39 - 5 40 97
sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/1,}/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
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1aa/1bb. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well, which party would you say you would lean towards? - Prompted

| Gender | A | EDUCATION Decided-Voters Leaners
T\)ta\ Ma\e Female 15 34 3554 PostSec | UnivGrad | The |ThelLiberal| TheNew | TheBloc | The Green [ People’s | Orsome | Would not
Conservati Party |Democratic| Québécois Party Party | other party | vote/None Know/Not
ve Party Party (8Q) /Would
(NDP) spoil ballot
Base: Decided Voters Leaners (unwtd) 421 194 227 109 167 145 16 74 191 140
Base: Decided Voters Leaners (wtd) 356 165 191 97 123 136 25 118 153 60 124 105 67 16 39 - 5 - -
124 55 69 2 39 59 2 51 55 16 124 - - - - - - - -
The Conservative Party 35% 33% 36% 27% 32% 44% 8% 43% 36% 27% 100% - - - - - - - -
¥ c = Im KIN® * ¥ = ¥ -
105 56 49 23 45 37 13 25 45 22 - 105 - - - - - - -
The Liberal Party 30% 34% 26% 24% 36% 27% 51% 21% 30% 38% - 100% - - - - - - -
* - 0 s O JIN® 0 - 0 -
67 23 44 2 21 24 5 20 30 12 - - 67 - - - - - -
The New Democratic Party (NDP) 19% 14% 23% 23% 17% 17% 20% 17% 20% 20% - - 100% - - - - - -
A * = * * * TKN* = ¥ -
16 9 7 3 10 3 3 7 4 2 - - - 16 - - - B -
The Bloc Quebecois (8Q) 5% 6% 4% 3% 8% 2% 12% 6% 3% % - - - 100% - - - - -
B 3 - - O - 0 - 0 -
39 19 20 21 8 11 2 14 16 7 - - - - 39 - - - -
The Green Party 11% 1% 11% 21% 6% 8% 9% 11% 10% 12% - - - - 100% - - - -
DE* = * * * ¥ = KL -
5 4 1 2 * 3 - 2 3 * - - - - - - 3 - -
Or some other party 1% 2% * 2% * 2% - 2% 2% 1% - - - - - - 100% - -
B - * ¥ - ¥ = ¥ -
356 165 191 97 123 136 25 118 153 60 124 105 67 16 39 - 5 - -
sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% - -
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/|J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
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2. Thinking about the Liberal government under the leadership of Justin Trudeau, from what you have seen, read or heard, would you say that you strongly approve, somewhat approve, somewhat disapprove or strongly disapprove of their performance?

T I
_... S |
Conservati | Party [Democratic| Québécois Party Party | other party | vote/None Know/Not
ve Party Party (8Q) /Would
(NDP) spoil ballot
Base: All Respondents (unwtd) 1000 478 522 262 388 350 57 183 434 326
Base: All Respondents (wtd) 1000 486 514 273 340 387 120 334 392 154 266 226 127 35 54 7 9 91 185
394 193 200 134 134 126 48 124 152 70 42 192 43 19 22 1 2 18 56
Top 2 Box (Net) 39% 40% 39% 49% 39% 32% 40% 37% 39% 46% 16% 85% 34% 54% 41% 12% 21% 19% 30%
DE * JLNQR J ** Ja* ** ** * I*
67 33 34 27 16 24 8 20 26 13 13 39 1 2 3 - 2 1 7
Strongly approve 7% 7% 7% 10% 5% 6% 7% 6% 7% 8% 5% 17% 1% 4% 5% - 21% 1% 4%
327 160 167 108 118 102 39 104 126 58 29 153 42 17 20 1 - 17 49
Somewhat approve 33% 33% 32% 39% 35% 26% 33% 31% 32% 37% 11% 68% 33% 49% 36% 12% - 18% 26%
E E * JLNQR J ** Ja* ** ** * I*
606 293 314 139 206 262 72 210 240 84 225 34 85 16 32 6 7 73 129
Bottom 2 Box (Net) 61% 60% 61% 51% 61% 68% 60% 63% 61% 54% 84% 15% 66% 46% 59% 88% 79% 81% 70%
C C * KLNR K R K* R b KN* K*
267 121 146 82 79 106 19 93 110 44 74 26 50 6 16 1 * 32 59
Somewhat disapprove 27% 25% 28% 30% 23% 27% 16% 28% 28% 29% 28% 12% 40% 18% 31% 22% 6% 35% 32%
: : e
339 172 167 57 127 156 53 116 130 40 151 7 34 10 15 4 6 41 69
Strongly disapprove 34% 35% 33% 21% 37% 40% 44% 35% 33% 26% 57% 3% 27% 28% 28% 66% 73% 45% 38%
C C * ] KLNR K b K* b ** KL* K*
1000 486 514 273 340 387 120 334 392 154 266 226 127 35 54 7 9 91 185
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/|J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
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3. Some people say that the Liberal government under Prime Minister Justin Trudeau has done a good job and deserves to be re-elected this year. Other people say that it is time for another federal party to take over and run the country. Which of these statements is closest to your point of view?

| Gender | At | EDUCATION Decided-Voters Leaners
T\)ta\ Ma\e Female 15 34 35-54 Post Sec Univ Grad The The Liberal | The New The Bloc | The Green | People's Orsome | Would not
Conservati | Party |Democratic| Québécois |  Party Party |other party | vote/None Know/Not
ve Party Party (8Q) /Would
(NDP) spoil ballot
Base: All Respondents (unwtd) 1000 478 522 262 388 350 57 183 434 326
Base: All Respondents (wtd) 1000 486 514 273 340 387 120 334 392 154 266 226 127 35 54 7 9 91 185
325 163 162 99 120 107 36 87 138 65 15 203 20 2 18 B 2 19 38
Trudeau government has done a good job and deserves re-
election 33% 34% 31% 36% 35% 28% 30% 26% 35% 2% 6% 90% 15% 33% 34% - 21% 20% 20%
* G G JINQR J = I = = ” ”
675 322 352 174 220 280 84 247 254 89 251 23 108 24 36 7 7 72 147
Time for another federal party to take over 67% 66% 69% 64% 65% 72% 70% 74% 65% 58% 4% 10% 85% 67% 6% 100% 79% 80% 80%
* HI KLNQR KN o K* b ** K* K*
1000 486 514 273 340 387 120 334 392 154 266 226 127 35 54 7 9 B 185
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/B,C/D/E,F/G/H/I,J/K/L/M/N/O/P/Q/R

Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:

Columns Tested (5%): A/B,C/D/E,F/G/H/I,}/K/L/M/N/O/P/Q/R

Minimum Base: 30 (**), Small Base: 100 (*)
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4. Which of the federal party leaders do you think would make the best Prime Minister of Canada?

T
_... = = i
Conservati Party |Democratic| Québécois Party other party | vote/None Know/Not
ve Party Party ( /Would
(NDP) spoil ballot
Base: All Respondents (unwtd) 1000 478 522 262 388 350 57 183 434 326 263 291 156 35 73 7 8 67 100
Base: All Respondents (wtd) 1000 486 514 273 340 387 120 334 392 154 266 226 127 35 54 7 9 91 185
317 169 148 89 113 115 44 84 135 55 10 200 13 9 9 - 2 33 40
Justin Trudeau 32% 35% 29% 33% 33% 30% 37% 25% 34% 36% 4% 88% 11% 26% 16% - 21% 36% 22%
* G G JLNQR J ** I* ** ** JIN* I*
359 179 181 76 109 174 49 116 143 52 228 12 15 3 5 7 6 21 64
Andrew Scheer 36% 37% 35% 28% 32% 45% 41% 35% 37% 33% 86% 5% 11% 8% 9% 100% 68% 23% 35%
cD * KLNQR b * b ** K* KLN*
130 60 69 54 44 32 4 56 51 19 8 4 77 3 3 - - 8 26
Jagmeet Singh 13% 12% 13% 20% 13% 8% 3% 17% 13% 12% 3% 2% 61% 10% 6% - - 8% 14%
E * F F JKNQR ** * ** ** K* JK*
171 63 108 51 60 60 21 66 59 25 21 9 20 8 37 - 1 27 49
Elizabeth May 17% 13% 21% 19% 18% 16% 18% 20% 15% 16% 8% 4% 16% 23% 68% - 11% 30% 26%
A * JK b JKLQR* b ** JK* JK*
23 15 8 3 14 6 2 12 4 3 - 1 2 11 - - - 2 6
Yves-Frangois Blanchet 2% 3% 2% 1% 4% 2% 2% 4% 1% 2% - 1% 1% 33% - - - 2% 3%
1000 486 514 273 340 387 120 334 392 154 266 226 127 35 54 7 9 91 185
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/|J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/\J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
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5. The next federal election will be held this fall. Using a 1-to-10 scale, where 10 means you are completely certain you will vote and 1 means you are completely certain you will NOT vote, how likely are you to vote in the upcoming federal election?

| Gender | At | EDUCATION Decided-Voters Leaners
TDta\ Ma\e Female 18 34 35-54 Post Sec Univ Grad The The Liberal | The New The Bloc | The Green | People's Orsome | Would not
Conservati | Party |Democratic| Québécois |  Party Party |other party | vote/None Know/Not
ve Party Party (8Q) /Would
(NDP) spoil ballot
Base: All Respondents (unwtd) 1000 478 522 262 388 350 57 183 434 326
Base: All Respondents (wtd) 1000 486 514 273 340 387 120 334 392 154 266 226 127 35 54 7 9 91 185
612 314 299 119 202 292 52 178 273 110 200 164 86 31 35 7 8 5 77
Top 2 8ox (Net) 61% 65% 58% 4% 59% 75% 3% 53% 70% 72% 75% 72% 67% 88% 65% 100% 94% 6% 2%
3 ) * FG 76 ar ar ar - ar* - w - a*
529 268 260 96 168 264 46 151 236 95 182 137 75 22 27 7 8 3 68
10- Completely certain I will vote 53% 55% 51% 35% 50% 68% 39% 5% 60% 62% 68% 61% 59% 63% 50% 100% 4% 4% 37%
c ) - FG 76 NGR ar ar = a* - - . a*
83 5 38 23 33 28 5 2 37 15 19 27 1 9 8 - - 2 9
9 8% 9% 7% 8% 10% 7% 4% 8% 9% 10% 7% 12% 9% 25% 15% - - 2% 5%
. a m R I - 0 .
76 45 32 32 23 22 2 37 23 15 20 16 18 1 3 - - 5 13
8 8% 9% 6% 12% 7% 6% 2% 1% 6% 9% 8% 7% 14% 3% 5% - - 5% 7%
€ . - 0 - - 0 -
47 18 30 2 2 1 4 1 21 s 13 2 6 - 3 - - 2 1
7 5% % 6% 9% 4% 3% % 4% 5% 5% 5% 5% 5% - 5% - - 2% 6%
o . I . I - 0 .
30 15 15 12 16 3 3 16 8 4 8 5 5 2 6 - * * 4
6 3% 3% 3% % 5% 1% 2% 5% 2% 3% 3% 2% 4% 5% 12% - 6% * 2%
€ € 0 - TKaR* - - 0 0
52 20 32 2 15 3 9 2 18 4 6 s 5 1 1 B - B 27
s 5% % 6% 9% % 3% 7% 6% 5% 3% 2% 3% % 2% 3% - - 6% 15%
c . m . - - 0 T
2 13 1 14 8 2 7 13 4 1 7 4 3 - - - - - 1
4 2% 3% 2% 5% 2% 1% 6% % 1% . 2% 2% 2% - - - - - 6%
€ o | - v - - 0 0
1 B 6 B B 1 3 2 4 2 4 1 2 B - B - 1 3
3 1% 1% 1% 2% 2% * 2% 1% 1% 1% 1% * 2% - - - - 2% 2%
. - v - - 0 -
104 a7 57 30 39 35 33 37 31 3 7 8 2 1 3 - - 7 2
Bottom 2 Box (Net) 10% 10% 1% 1% 1% 9% 27% 1% 8% % 3% 4% 2% 2% 5% - - 77% 7%
S | 1 - - - - TKINR™ 0
18 1 6 B 4 s 6 4 8 - 1 - - B - B - 10 7
2 2% 2% 1% 2% 1% 2% 5% 1% 2% - * - - - - - - 1% 4%
0 1 - v - - TN g
87 36 51 25 34 27 27 33 23 3 6 8 2 1 3 - - 60 6
1- Completely certain | wil not vote 9% 7% 10% % 10% 7% 23% 10% 6% 2% 2% 4% 2% 2% 5% - - 66% 3%
S . 1 - - - - TKNR" -
2 10 32 1 20 s 8 17 10 s 1 s 1 B 3 B - 1 27
Don't know % 2% 6% 5% 6% 2% 7% 5% 2% 5% * % 1% - 6% - - 2% 15%
A E * J o I o % * JKLa*
1000 486 514 273 340 387 120 334 392 154 266 226 127 35 54 7 9 91 185
sigma 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100%
ean 8 8.2 7.9 73 7.9 8.7 62 7.7 84 9 89 8.8 87 9.2 85 10 98 24 7.4
) . F F6 FGH ar ar ar - Q* - - ’ a*
<t oo 2.96 285 3.06 2.99 3.07 27 3.83 3.02 2.68 191 211 2.18 2.02 16 2.36 - 0.98 266 2.84
<o 01 013 0.14 019 0.17 014 0.36 017 0.14 016 0.13 015 0.18 027 033 - 033 0.28 0.23
) 10 10 10 8 10 10 7 B 10 10 10 10 10 10 10 10 10 1 8
Median
Statistics:

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/|J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B,C/D/EF/G/H/|J/K/L/M/N/O/P/Q/R
Minimum Base: 30 (**), Small Base: 100 (*)
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